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MELEHE 3 &4

(SHel - 1099 9) FY’'21 1Q'22 S H(%)
N 1,973.3 1,997.2 1
2 X 530.1 599.9 13
N 1,443.2 1,397.3 -3
FY'21 1Q'22 S U(%p.%)
ROE(Return On Equity)(%) 9 12 3
oY E(=0lA/HE)(%) 5.6 7.1 2
SAH 2 H & (O E/S A (%) 1.19 1.19 -
Leverage (& Attt/ S XHE)(x) 1.37 1.40 2
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1Q'21 4Q'21

560.5 595.7
144.5 117.9
26 20
56.1 11.6
10 2
98.0 54.0
17 9
54.6 7.3
10 1
41.9 4.4

1Q'22

590.5
150.4
25
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10
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1Q'21 4Q'21 1Q'22 YoV QoQ
NN 272.0 279.7 283.2 4

SALIEN 263.9 272.0 275.6 4

-8 Aoz 8.1 7.7 7.6 6

OFA|A o

;1 l;“ A ZThof 60.1 81.1 73.0 21
E5tE ot 114.5 110.0 118.0 3
7] E} 1.1 1.1 1.1 -
A A 447.7 471.9 475.3 6
H=2ae| 159.3 167.8 161.4 1
t=3 A 3.5 3.3 3.7 6
Ct=01 Z A 610.5 643.0 640.4 5
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560.5 595.7 590.5 5




